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(35 9,756  (438)] 10,105 (496)] 19,861 (934)] 8,723 677)
FARCLIES 6,329  (250) 6,447 (346)] 12,776 (596)| 5,681 (423)
& H Hi X 1,347  (126) 1,382  (100)| 2,729 (226) 1,154 (167)
K Hh X 776 (26) 848 (26)] 1,624 (52) 748 (45)
AR X 1,012 (34| 1,118 (23)] 2,130 (57) 889 (41)
HE )1 X 292 (2) 310 (1) 602 (3) 251 (1)
1 [ 6,102 (205 6,177 (240)] 12,279 (445)] 5,429 (358)
H S 3,765  (145)| 3,814 (33)] 7,579 (178)] 3,195 (161)
B A A 19,623  (788)| 20,096 (769)| 39,719  (1,557)| 17,347 (1,196)
EREREBEAD | 19,623 A 20,096 A 39,719 A 17,3478
g H O N B EDHEJK -15 (-17) —49  (-23) —64 (-40) 28 (-42)
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10010 FE1X 449 (17) 484 (40) 933 (57) 440 (50)
10020 12X 153 (3) 154 (2) 307 (5) 171 (4)
10030 13X 386 9) 396 (13) 782 (22) 368 (19)
10040 14X 1,007 (52) 1,099 (128)] 2,106 (180) 933 (158)
10050 15X 279 (3) 239 (2) 518 (5) 253 (4)
10060 ONADMN 172 183 355 136
10061 JB& FH 370 (15) 351 (8) 721 (23) 285 (16)
10070 1 e B 5 [ Hh 53 (23) 93 (19) 146 (42) 70 (14)
10080  |mmess copmiass 40 35 75 35
10090 (L]E] 791 (18) 806 ae)l 1,597 (34) 647 (31)
10100 NS 97 (4) 80 (5) 177 9) 83 (3)
10110 HiK 103 109 212 85
10120] s | 81 77 158 57
10130 B 46 54 100 41
10140 HIJi 62 54 116 44
10150 57 A5 148 140 (1) 288 (1) 112 (1)
10160 5 T K 46 46 92 38
10170) X |7 H 138 (3) 133 (5) 271 (8) 134 (2)
10180 FI5 304 (24) 307 (21) 611 (45) 291 (23)
10190 - 525 (14) 522 (10) 1,047 (24) 481 (24)
10200 W= P HE 71 (34) 74 (33) 145 (67) 65 (26)
10210 BRI 409 (5) 389 (7) 798 (12) 339 (7)
10220 VA [ 52 9) 87 (14) 139 (23) 69 (8)
10230 = [ 547 (17) 535 o2l 1,082 (39) 504 (33)
10250 P 128 148 276 120
10260 YO [ H 170 (113) 145 (99) 315 (212) 200 (153)
10270) 48 | &5 78 78 (1) 156 (1) 62 (1)
10280 - 222 233 455 186
10290] I [XPH 119 (4) 124 243 (4) 105 (4)
10300 e 139 140 279 102
10310] bt = v i 99 113 212 81
10320 R 176 (4) 182 358 (4) 132 (4)
10330 X V= 84 98 182 69
10340 HEE 132 (5) 121 253 (5) 97 (5)
10350 i 54 57 111 41
10360 K P 49 (2) 58 (1) 107 (3) 48 (3)
10370 s 24 23 (2) 47 (2) 22 (1)
10380] M {2240 55 (1) 59 114 (1) 73 (1)
10390 K 150 (5) 144 294 (5) 113 (5)
10400] Hi | T AK 207 (1) 233 440 (1) 162 (1)
10410 R RS 41 (9) 76 (14) 117 (23) 111 (23)
10420 X JAK 196 (8) 198 9) 394 (17) 178 (11)
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10430] | E=5C 226 (21) 238 (15) 464 (36) 215 (30)

10450 = 121 (8) 121 (8) 242 (16) 90 (6)

10460 #& A% 265 (1) 295 560 (1) 228 (1)

104701 |#EH 141 167 308 138

10480) M |1 37 (4) 33 70 (4) 27 (4)

10490] |'E5ia 29 33 62 26

10500] Hi |4 B 90 111 201 71

10510 HE 73 87 160 57

10520] X |R°LA S 30 33 63 37

10530 j’ﬁ IR 111 127 238 95

10540] , | FHEJ1] 56 61 117 40

10550] i |*FA 125 (2) 122 (1) 247 (3) 116 (1)

20010[ YR 37 72 74 (1) 146 (1) 57 (1)

20020]| & 1,468 62)| 1,489 60| 2,957 (122)] 1,341 (116)

20030| T v By 1,422 (23) 1,467 G5 2,889 (78) 1,327 (67)

20040 {A] 5 599 (10) 650 ao] 1,249 (20) 467 (9)

20050] 15 i) 588 (9) 630 Gl 1,218 (14) 462 (12)

20060 | FTHT 398 (12) 407 (17) 805 (29) 361 (22)

20070]dk 57 673 (87) 641 (83) 1,314 (170) 608 (120)

20080 | Fti e 109 125 234 85

20090 F 135 (1) 131 (4) 266 (5) 160 (5)

20100] 5 Fx 92 101 193 79

20110{Z% MW 364 (1) 375 (5) 739 (6) 303 (6)
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20130\ R4 182 87 269 179

30010 K#f 419 (39) 390 (6) 809 (45) 346 (44)

30020 [ A EEL 85 101 (1) 186 (1) 73 (1)

30030[ L 154 (1) 147 301 (1) 122 (1)

30040 {55 87 81 (1) 168 (1) 55 (1)

30050] 7 H 57 52 109 39

30060 | EkiE & 74 (4) 63 (1) 137 (5) 82 (4)

30070{ 76 = 53 56 109 45

3008044 29 34 (1) 63 (1) 20 (1)

30090] K 5F 93 101 194 80

30100+ 61 64 125 51

30110 =& 69 75 144 58

30120{ A 55 (1) 49 104 (1) 41 (1)

30130 KM@ 68 (11) 58 (2) 126 (13) 73 (13)

30140[FAiy 87 82 169 65

30150[ %% 118 144 262 104

30160 F L1 1,024 G2 1,027 anl 2,051 (69) 858 (58)

30170| A 143 (1) 138 281 (1) 117 (1)

30180 = 60 (14) 48 108 (14) 54 (14)

30190(£R 2 74 (14) 74 2) 148 (16) 87 (14)

302008 & 172 (1) 183 (2) 355 (3) 155 (1)

30210] 5 123 (4) 129 252 (4) 104 (4)

30220[ /N iR 47 63 110 34

30230 52 f% 70 84 154 52

30240 /=K1 82 (1) 79 161 (1) 66 (1)

30250{#A IR 70 68 138 59

30260 [ B TEK 63 60 123 45

30270] KA 75 93 168 68

30280y 49 62 111 39

30290 %k 57 70 127 55

30300 [ {# 23 22 45 17

30310 | fe 7 5T 124 (2) 117 241 (2) 131 (2)
o 19,623  (788)| 20,096  (769)] 39,719  (1,557)] 17,347 (1,196)




